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1. aﬁﬁﬁ@mﬁﬁﬁ,wﬁmm RIS G ] |
In a psychrometric chart, the humidification process is represented by
(a) Fealer @ / Vertical line (b) =TFa W@ / Inclined line
()  @Waeld W@ / Horizontal line (d) @ @1 / Curved line

2.  f=fafea 4 9w fom-a 27

Which of the following is dimensionless?
(a) fafsre 9w / Specific weight (b) Tafste nfe / Specific speed

(c) Tafre e / Specific gravity (d) fafSre s / Specific volume

3. fr=ffaa gzat & & o wnaw frad wnae 989 & 90 87

In which of the following views, the picture plane is the same as the plane of projection?

(a) s g¥@ / Oblique view (b) werivia g¥F / Orthographic view
(c)  we¥ gva / Perspective view (d) T g¥ / Pictorial view

4. = & @ -1 9 ga % e g B 7
Which of the following statements is applicable to liquids?
(a) 7@ =l ifsa & foan s whan / Liquids cannot be compressed
(b) A = I fAfia &t 8 / Liquids occupy definite volume

(¢) & W T TS a9EH H UREcy 1 1§ I9E 7@ 9gar / Liquids are not affected by change in
pressure and temperature

(d) T ¥ =5 781 / None of the above

5.  Ti=fafiea 4 & -t aeea a1g &1 witas & 9 H ST S 87
Which of the following cycle uses air as the refrigerant?
() @A / Carnot () =fen / Sterling

(¢)  uf=Ea / Ericsson (d) dS-wiedq / Bell - Coleman

TA-01 3 March 2020
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ﬁm%%ﬂﬁﬁ%ag@mﬁ%maﬁ@a%ﬁwmﬁwmgmmﬁmﬁm%?

Octane number is determined by comparing the performance of the petrol with which of the
following hydrocarbon(s):

(a) @H-3TFA /Iso-octane
by T fiemsa T / Alpha methyl naphthalene
€  @H-3ERA T qH 337 o1 fm / Mixture of iso-octane and normal heptane

- @ fer e whARaE = Sy / Mixture of paraffin and aromatics

7. @ﬁgﬁﬁmmnﬁaﬂm@ﬁaﬁq%gﬁﬁaﬁaﬂqﬁ!————m%l
The tendency of a body to resist change from rest or motion is known as

(a) Ty / Friction (b) S&ca / Inertia

(c) oW /Mass @ wfedieh s« / Resisting force

8. a@quﬁmmﬁ%mﬁqﬁﬁﬁﬁ@m%ﬁmﬁrmﬁﬂqﬁmaﬁ?
Which of the following methods is not used for testing straightness?
(a) feafe & fafer / Spirit level method

(b) =t fafer / Interference method
(¢ ¥ mwiaie / Autocollimator

@ hw g@f= / Beam comparator

g frefufad & ¥ w A I T 3?
Which of the following is not the objective of annealing?
(a)  ats e H Srre / Remove internal stresses

(b) U % A = gfanffa & / Refine grain size
(¢ o= i guwn / Refine structure

@ W& i e / Improve machinability

TA-01 4 March 2020
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10. R T areft Merer fows v am % @y fomr R O @t 31 qufe o fom § P fag w A @ o

—3l

A circular disc of Radius R rolls without slipping at a velocity v. the magnitude of the velocity at
point P as shown in fig is

— >
@ B b 3 (v/2)
© (/2 @ (20/43)

11. Ei9d 3o d STqmTSis aig o1 o —— |
Scavenging air in diesel engine means

(a) Taforet =t sfafea w6 gq y&ifera g / Forced air for cooling cylinder
(b) <& % IIGl I &9 91¥ / Burnt air containing products of combustion
() Tremma it saf % dm, S99 F fafeet @ gra g =i seigds sTet e 3g 39 i T 91y

/ Air used for forcing burnt gases out of engine’s cylinder during the exhaust period
(d) <= H gga g ITAM it 7§ arg / Air used for combustion under pressure

12. S/ % HqH qEH F, 9EE 3 sgera R foEn, 1 . Si@ % arsdie g et S ———
FEArd 2

The amount of heat absorbed to evaporate 1 kg of water from its saturation temperature, without
change of temperature, is called as

(a) T < TIw ™ / Sensible heat of water

(b) Enﬁqci'q’a‘{ﬂr =l 70 =1/ Latent heat of vaporisation
(c) a7 i wAet (i-F=) / Enthalpy of steam

(d) a7 i Tt / Entropy of steam

TA-01 5 March 2020
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13 w&aﬁnﬁﬂﬁw(w)ﬁwg%?ﬁ“a"mmw@m?

Find the values of “@”, if the given matrix is singular

a -1 -3
3 2 8
2 1 2
(@ -3 (b) +3
() +2 @ -312

§g Tl &

s i, o TR (AR TR R A S @ el

peed is doubled, head developed becomes

() 157 /times

In a centrifugal pump, when the impeller s

(a) 1.414 71 /times

(c) 27 /times '(d) 4T [ times

15. @ o H g
Select the correct statement:
(a) Ted et ST et T S H ST SR il eadt & / Weber's number is the ratio of
gravity force to surface tension force '
(b) mwﬁxmwwmwé&ﬁﬁmmﬁ% / We
inertia force to surface tension force
O LSS aﬁtmaaamagmamﬁé@ﬂ
viscous force to pressure force
(d) aﬁwﬁmwwwww&é@lwﬁ% I'W

of inertia force to surface elastic force

per's number is the ratio of

Fgardt & / Weber's number is the ratio of

eber's number is the ratio

16. @mﬁﬁ%mﬁm@ﬁﬁﬁaaﬂt@wmﬁmﬁwm%?

In simultaneous throw of two coins, the probability of getting one head and one tail is

(a) 1/4 b 13
© 12 d 253

March 2020
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17. o # fSu 7 fewh (Sfshert) &1 w1 ‘m’ B St R k arelt {8 & d@eg 7, e {6 fomr A foamn w2

few formm R wwaetta o T U giam 31 59 onelt < shoe <ht T ST H

A disc of mass ‘m' is attached to a spring of stiffness k as shown in the figure. The disc rolls without
slipping on a horizontal surface. The natural frequency of vibration of the system is given by

VIl edaidis

SIS S LSS

1 |k | ’Zk 1 |2k 1 [3k
= i b B e i | e d 88 He
@ 2r \m (b) 2r \ m © 27 \3m @ 27 \2m

18.  Tr=fcfea wfshan & & form w0 arafiedt warg Soit aefisntor vy & 27

The steady flow energy equation is applied to which of the following processes?
(a)  UEY s Y418 / Pipe line flows (b) AT 3T UfskAT / Heat transfer process

(¢) & ufseam / Combustion process (d) ST @t / All of the above

19.  afg [4x -7 =5 Tt 2| |- x| F AT FME?

If [4x - 7| = 5, then the value of 2|x| - |- ] is,
1 1 2 1 2
2, = b) —=,3 -, = d —,3
(a) = ® 3 @ S @ 3
20. sToed fam % orgEm, fal % faym 1 a1 g % W 2

According to Dalton’s law, the total pressure of the mixture of gases is equal to
() @t = T3k g @ TR / Greater of the partial pressures of all

(b) @t = T3k g 1 3ftEa / Average of the partial pressures of all
(c) &t & =if3rk a1 =1 I / Sum of the partial pressures of all
(@ oft % it T % 9 @ e e onfvas W @ fRT T wwt / Sum of the partial

pressures of all divided by average molecular weight
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-4._ HUMAN SPACE FLIGHT CENTRE SET
Sl | TECHNICAL ASSISTANT - MECHANICAL D
o1, wm.emE.(Sl) gfie  yguiee TawAl i FHE —————— H
Unit of kinematic viscosity in S units is
(a)  Ns/m (b) Ns/m?
()  mdlsec ' (@ Ns*m
92. TE % U R @ T mﬁﬂwﬂmz%waﬁﬁaﬁﬁﬁaﬁﬁﬁmmw%,ﬁmﬁﬁaﬁ
gt T 1 AR A my 3 AR G R e S Tt ST WG STEH| L ST ST
My
T B ?
A mass my, hanging at the end of a string moves a mass my along the surface of a smooth table
as shown in fig. If mass m, on the table is doubled, tension in the string is increased by one-half.
Find the ratio of -
my
ms
mai
(a 2 (b)) 1 () 12 d 4
23. WBOOKWaﬂmw%aﬂtwﬁmm%%ﬁﬁ%ﬂﬁgﬂ il
The output of a turbine is 600 KW and efficiency is 40%. The input power is
(a) 1200 kW (b) 1500 kW
(c) 1800 kW (d) 2100 kW
24.

TA-01 8 March 2020

uss arqerdt S dfen 80.5° & 3t 70° & 90° i AT T A 9T a5 B -0.25° ol YUK 3| Wal dTaHTT
fra 27

A thermometer reads 80.5°C and the correction from calibration curve is -0.25°C in the
measurement range 70°C to 90°C. What is the true value of the temperature?

(a) 80.75°C (b) 80.50°C
(c)  80.25°C (d) 89.75°C
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1 HUMAN SPACE FLIGHT CENTRE SET
s |is7E TECHNICAL ASSISTANT - MECHANICAL D
25. WA = f&sims s § spiiaiued & eae ¥ @ ey ——— 8|

The objective(s) of considering ergonomics in machine design is/are to

1. ifeek gfderet st w2 & T / Decrease physical stresses

2 WRIAT ! WA 3E s9H & 1T / Make the user adapt to the machine
3. ™ = WA % ITE S9H o T / Make machine fit to the user

4.  3Id@E ﬁ@la‘c' %l gurA @ T / Improve appearance of the product

(@) wad 2 /only 2 (b) 3w 4 /3and4
(0 1w@3/1and3 (d 1,3w4 /1,3and4
26. 99 % T Y0l AR HFET 7 F TR T B THE TR AT A A SN —— Fl 2l

Ratio of moment of inertia of a circle and that of a square having same area about the centroidal
axis is given by

5 3]
@ ® o
© = @ 2

T 7T

27. AR 3<X<5dAN8=<Y <11 at fFrfafad fasrcy & & = &=l &7

If3<X=5and8=<Y < 11, then which of the following options is true

3 X 8 3 X 5
—<—==< = b — < —=<—
@ 5573 ® 773
3 X 8 3 X 8
— < —=<— d —-s—=<—
@ [{EF5 @ 5=y=<7

28. W YEA U Widgw /AR I a9 H TelfEed STl 9% faga fRar San § q@ swent Wi gfded ddted |
o2 ST & 3 frelima: ot 78 wed B| sHeRT 98 SUTER ——— hgeldl 2

When a specimen is first plastically strained in tension, its yield stress in compression is reduced
and vice versa. This behaviour is known as

(a) SAfSTR ys= / Bauschinger effect (b) Tl w9E / Poisson’s effect
(¢) = g / Work hardening (d) e gA: WH / Stress recovery

TA-01 9 March 2020
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-4.. HUMAN SPACE FLIGHT CENTRE SET
e TECHNICAL ASSISTANT - MECHANICAL D
29.  Tehe I ifa % g fagia W eneiia 2|

The motion of rocket is based on the principle of conservation of

(a) Iaw @am / Linear momentum (b) =IvfT "WAT / Angular momentum

(c)  Tfes S=1 / Kinetic energy (d) gemaH / Mass
30. CPM |

CPMis

(a) aFAgEt @ / Time oriented technique
(b) ET-3H@ Tt / Event oriented technique
(c) MA@ deAlh / Activity oriented technique
(d) &A@ qeAR / Target oriented technique

31. IO ¥ HaEE FIaW ¥ TR, .36, (SI) g § 3usht HArar (HB) qn a4+ amed (TS) & Had 2
|

As a rule of thumb for most steels, the hardness (HB) & tensile strength (TS), in Sl units, is
correlated as

(a) TS=345xHB (b) TS =1500xHB
() TS=225xHB (d) TS=475xHB

32. fou e i & yivefera gew & w fiig W wfterer i feif geg 18 21 99, ox = 200 MPa , oy = 100
MPa , txy = 100 MPa 9901 Sfceret il AfRERaH T+ Bl

The state of stress at a point in a stressed element is shown in the figure. Given that ,
ox = 200 MPa , oy = 100 MPa , txy = 100 MPa, the value of maximum shear stress will be,

¥ iy
I

<T

Oy

(a) 2545 MPa (b) 50+/5 Mpa
@  100+4/5 MPa (d) 20045 MPa
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» HUMAN SPACE FLIGHT CENTRE SET

Sd TECHNICAL ASSISTANT - MECHANICAL D

33.

34.

TA-01

et few e for °, sraeen (2) # quiE MQ IFER, TG A UE B gl yw w9 @ e ardt €1 afe wme
3FaET (3) W g ¥ e i Usht S @

In the diagram shown below, material A and B expand freely as shown in condition (2). If
expansion is prevented to reach equilibrium condition (3), then

Material A

1linitial position

2) Free expansion
due to temperature

3) Expansion prevented
for equilibrium

(a) werd B g ugrd A W STET T 99 9, A gRT B W STl U 9 S % 99 &/ Tensile force
exerted by material B on A is equal to tensile force exerted by A on B

(b) Ut B g vere A WX S TR i o, A g B W ST ¢ ddies 5l o 99 & / Tensile
force exerted by material B on A is equal to compressive force exerted by A on B

(¢) ugd B grm e A W grelm T Gfiew s, A g B W S Qo9 S % g9 &/
Compressive force exerted by material B on A is equal to tensile force exerted by A on B

(d) O STEET ¥ Ay HeE W HI§ 9@ Y9E T8l sedr / No force acts on the composite
member in equilibrium condition

ffafaa amt & @ S-a1 99 Teq 8°

Which of the following statements is wrong?

() TG % STHEUR gF U9 9 H FOAT 1 7T BT & / The heat transfer in liquid and gases
takes place according to convection

(b) Tt fis & o weng it v, fie fom verd 4 s 8, 39 W it @t & / The amount of heat
flow through a body is dependent upon the material of the body

(c) QUHH % Wt ® 3| €1g s aTf =TersRal s 9l @/ The thermal conductivity of solid
metals increases with rise in temperature

(d) UK HTET AIYHE ST 3, GHIGL WIS A9 % 37al o "W T8l srar / Logarithmic mean
temperature difference is not equal to the arithmetic mean temperature difference

11 March 2020
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35.

36.

317.

38.

39.

TA-01

= & o forad wam o = 27

Which of the following do not have identical dimensions?

(a) =M Ug 3ET / Momentum and impulse

(b) & w1 el wg wivfr AT / Moment of a force and angular momentum
(c)  Tifcs it wd fawa St / Kinetic energy and potential energy

(d) = 3ot ug St / Torque and energy

T H TESR H1 F1E H
The purpose of riser in casting is to

(a) ST S X STIEY G T Gk 1 W AT / Feed the casting at a rate consistent with the
rate of solidification

(b)  TUmedt g & forw Wer 1 %™ wE / Act as reservoir for molten metal
(c) S o SHITET % WWUT | TgEal e / Help feed the casting until solidification takes place
(d) =9 ¥ e fecf ag =1 W wE / Feed molten metal from pouring base to gate

AMFT 5,000 ¥, IUR AT & 3R 37 &9 HI 500 & 6 Fa sa wfga 10 el § a0@ F60 w ggqa g
7 o, wee foreq fuselt foiea @ 10 &, =0 21 s veelt it sifad frea fnasft Bfi?

Abhinav borrows Rs. 5000/- and agrees to repay with total interest of Rs. 500 in 10 installments,
each installment being less than the preceding installment by Rs. 10/-. What should be the first
and the last installment respectively?

(a) 505, 415 (b) 500, 410

(c) 525, 435 (d) 300,210

el <l W T AT A 2l

The escape velocity on the surface of the earth is

(a) 1 km/sec (b) 3.6 km/sec

(c) 8.8 km/sec (d) 11.2 km/sec

aeft feemet § 9um Yo o7 g9 arer uged iG]

Materials having same elastic properties in all directions are called

(a) =gl werd / Ideal materials (b) THW W / Uniform materials
(c) Wk Terd / Isotropic materials (d) =9 werd / Orthotropic materials

12 March 2020
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/1 HUMAN SPACE FLIGHT CENTRE SET
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40. STAEHR €8 1 AFaA 1.5 x 108 mm® 81 32 x, y 3k z feamewt # wfsa 9w 100 Mpa, 150 Mpa
3T 160 Mpa & @ TRra" | 91 Uitad gl (S8l desh wiged K = 2 x 10° N/mm? and 9ia@s 31gama
p=0.3)

A rectangular bar has a volume of 1.5 x 10® mm®. What is the change in volume, if stresses in x,

y and z direction are 100 Mpa, 150 Mpa and 160 Mpa respectively. (Assume Bulk Modulus
K = 2 x 10° N/mm? and Poisson’s ratio p = 0.3)

(a) 2000 mm?® () 1500 mm?® (¢ 1230 mm? (d) 1000 mm?®

41.  If2 uiaEa (Poisson) % ¥UTd &1 WM I & dl sUt 279 &
If the value of Poisson’s ratio is zero, then it means that
(a) g gg @ /the material is rigid

(b)  uerel yuid: wfees @ / the material is perfectly plastic
(c) e ¥ e faspfa 7€ ® / there is no longitudinal strain in the material
(d) 3 9 %S 7@ / None of the above

42.  THM YR HE I Yodiers (hlefier) s et &emg L 7 R et gear El 2, = w uid gfe
TS AT FEEE IR & g ®9 8 il foran man 21 s o tfteran St gy ————— )

A cantilever beam of length L with uniform cross-section and flexural rigidity, El, is loaded
uniformly by a vertical load, w per unit length. The maximum vertical deflection of the beam is

given by
(a)  wL¥8EI (b)  wL*4El ()  wL*16EI (d) ~ wL*24E|
43.  ITIIEY I¢-HROT G SMETRG STAATHR STIEY HIS o SH Al TEIVN Fferd forawor g —— |

Shear stress distribution diagram of a beam of rectangular cross-section, subjected to transverse
loading is given by

(a)

(b)

(c) (d)
TA-01 13 March 2020
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44,

45.

46.

-1 T -] o T A L q G 6 A T T HIS H I FA g el I I 1

Match List-l with List-Il and select the correct answer using the codes given below the lists

(A)
(B)
(C)
(D)

(a)
(b)
(c)
(d)

1 &
log.| — | & | =1 ga1 wTd
°g7[343)

it s TR / Mechanical work equation 1. FTiEEd FUiH / Clausius-Clapeyron |

[dait <0 2. firssg @fisor / Gibb’s equation |

Gy f9m/ Zeroth Law 3. 3= avit St / High Grade energy J

H-Ts 4. A9EH i GeheddT / Concept of temperature |
A B C D
1 3 2 4 |
3 1 2 4 |
4 2 3 1 |
3 1 4 2

Calculate the value of log.,[——l—) . |

343
(a) -3 b 7 € -7 (d 0
. | | |
Hice-TTeh & axbhed % U, Vet gRe w1 el s swva @, St ST AR H |
I 5 T HE HA B

According to Kelvin-Planck statement, it is impossible to construct a device operating on a cycle
which transfers heat from

(a)

(b)

()

(d)

TA-01

I qUHM o I HeR ¥ = aume WSK % / High temperature heat reservoir to low

temperature reservoir

3= & 9Tt ST WeR § i g a1l ™ SR 9% / High pressure heat reservoir to low
pressure heat reservoir

1 g I I WeR @ 3= g I ST WS @% / Low pressure heat reservoir to high
pressure heat reservoir

= T % e WeR ¥ 3= qIWE ST WK % / Low temperature heat reservoir to high

temperature heat reservoir

14 _ March 2020
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47, Feforht wav (Ffwa f8m) & D = archt Feeht Ht N gt § ot gl fBm st wgeht % aam geref &
ot &, # N/2 Sfeat &, Rreeh deeft i sare 2D R1 afe wom S B gl k ® @ gud e i g
e — ) ]

A helical spring has N turns of coil of diameter D, and a second spring made of same material,
has N/2 turns of coil of diameter 2D. If the stiffness of the first spring is k, then the stiffness of the
second spring is given by

(a) 4k (b)y 2k () ki/4 (d) k8

48, foF- 1§ gy g f&m 9 yorett & d i g N 2 A O R Ut € wum 8 39 guen § Sie
&t S, 9 fem- 11§ fo@mn mn g, o sTgia =/ geft?

For the spring mass system shown in the Figure I, the frequency of vibration is N. What will be
the frequency when one more similar spring is added in series as shown in Figure 1I?

¢x m m

Fig. I Fig. II

(a) N2 b J2/N @ N2 (d N

9. fi ¥ quiy T owER, ofE FReh g ala o9 R a D B wrma 6 R (e o
shisn) i gea —— @it /

The number of degrees of freedom of a five link plane mechanism with five revolute pairs as
shown in the figure is

(a) O (b)y 2 (© 7 (d 22

TA-01 15 March 2020
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50. e | Tg || <Y 7GR Wl L

Match the items in column | and Il

=hierd / Column | ieH / Column I
P. =mdt W& / Charpy Test 1. dtear / Fluidity
Q. 79 & / Knoop test 2. g&W-w3Ral /Microhardness
R. st wieor / Spiral test 3.  fow=rftEan / Formability
S. =T e / Cupping Test 4.  gear/ Toughness
5.  9RTEAT / Permeability

P Q R S
(a) 4 5 3 2
(b) 3 5 1 4
(c) 2 4 3 5
(d) 4 2 1 3

51. 4l T R Fe-C fiyeng & sl sl AT 0.83% & %4 ¢ I 98 FHEardt 2l

If a particular Fe-C alloy contains less than 0.83% carbon, it is called

(a)
(b)
(c)
(d)

52. fmfsa s =1 =7 foig, fre w g = aftomdt g =

The point in the immersed body through which the resultant pressure of the liquid may be taken

3= 7fd $99Ta / High speed steel

F1Y: YeFelss 39T / Hypo-eutectoid steel
Ffd-geFerenl s8Td / Hyper-eutectoid steel
gadt @igr / Cast iron

to act is known as

(a)
(b)
(©
(d)

TA-01

T she / Metacentre
g %hg / Centre of pressure
IcaTasal shg / Centre of buoyancy

& g / Centre of gravity

16
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53.

54.

55.

56.

TA-01

gfe 332 = 27 @ x F AH H yar @d
Find the value of x, if%_:z"
(a) x=23/5 (b) x=5/3 () x=2/3 d x=1/2

forr o guife o rER, vk fafaet, fmet s v @ ot ar 'm’ B, % =W 31 U ar s 7| afe e
I R | Ik K eI S Al h’ a6 fil gt T ave, ffers i am B

A cord is wrapped around a cylinder of radius 'r' and mass ‘m’' as shown in the figure. If the
cylinder is released from rest, the velocity of the cylinder, after it has moved through a distance
‘h’ will be

@ (g™ () (gh/3)™ (©  (4gh/3)™ @ (2gh)™

e o fomeran o fargia faferfaa & @ fohm weer & gared & ferg 3uge 37
Guest’s Theory of failure is applicable to which of the following type of material?
(a) @ /Ductile (b) WX / Brittle

(¢) w™Y / Elastic (d) weTeesh / Plastic

o o qufe U AR, 1 m s W @ @2 5 . wioae arg F am F 0.5 . wR Al meft
geft STl ¥1 Tl @ ST 320 cm ST IS WG @1 ST Sl @ At Al @l @ g

&

(S&T g = 10 m/sec?)

A bullet weighing 0.5 kg was fired horizontally into a sand bag weighing 5 kg suspended on a
rope of 1 m long as shown in fig. It was found that the bag with the bullet embedded in it
swung to a height of 320 cm. The speed of the bullet as it entered the bag is

(Take g = 10 m/sec?)

(a) 88 m/sec (b) 44 m/sec (c) 176 m/sec (d) 22 m/sec

17 March 2020
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57. aaﬁgé%%ﬁ@wﬁﬁmwmmammwﬁﬁ%——%wa:ﬁ%mﬁwwﬁﬁ ERER
A gl 8l |

58.

59.

60.

The apparent weight of a man in moving lift is less than his real weight when he is going down
with

(a) "9 T / Uniform speed (b) T / An acceleration

() IRagw "am / Some linear momentum  (d) He&d / Retardation

fafia a1, ——— =l &1 qen uftew & s ofafia foram S wehan 2
In an isolated system —————— can be transferred between the system and the surroundings:

(a) T8 WR 3T Hl / Neither mass nor energy
(b) R T it g1 / Both mass and energy

(¢)  Fae 9 / Only mass

(d) I St / Only energy

2N R a1l T sars 1 m il S8 O U 8 & FW % Sw R 21 afe 39 9r i form w aw 2g
97 T8 0.1 m a= @difea & swar @ @ & 1 s ——— aml

A block of weight 2N falls from a height of 1 m on the top of a spring. If the spring gets
compressed by 0.1 m to bring the weight momentarily to rest, then the spring constant would be:

(a) 50 N/m (b) 100 N/m (¢ 200 N/m (d) 400 N/m

afe i % hrr 74 g foRet ar it o gt & St & @ @ v e & S|
If the radius of wire stretched by a load is doubled, then its Young's module will

(&) T / Double

(b)  3mmfed W / Remain unaffected

(¢) =R IAT & Smwm / Become four times

(d) UH-TYTE g W / Become one-fourth

TA-01 18 March 2020
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All objective type questions carry equal marks of THREE for a correct answer, ZERO for no answer and

MINUS ONE for wrong answer. Multiple answers for a question will be regarded as a wrong answer.
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Question booklets have been marked with A or B or C or D on the right hand top corner, which is mandatory
to be written on the OMR sheet in the box and bubble appropriately, failing which, the answer sheet will not

be evaluated.

7. gfecen § Sy ST I SNETAHAT F SR Fw I % RO ST e 1w 21 e @ e T8 A o)

Space available in the booklet could be used for rough work, if required. No separate sheet will be provided.

8. sufeufa e W Twer w1 & Uee, wliamefl = sufedfy vie @ g wis foreat @) el w) s T % a
& AR = g

Before signing the attendance sheet, the candidate should write the Booklet Code in the attendance sheet.

Candidates should sign against THEIR names only.

9. qﬁm%a"dﬁ(1)qﬁ@rﬁw%f@auﬂw%ﬁaﬁa(z)ﬂ@aﬁ.@.m.msﬁaﬁﬁﬁﬂﬁﬂ%%éﬁ%
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At the end of the test (1) Written test Call Letters(s) with photograph pasted on it (2) Original OMR Answer

Sheet shall be returned to the Invigilator and shall not be carried by the candidate under any circumstances.
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